B R

GRL | HTF | FnE | E | AL | BT | AHE | AKE | BHERN | mEeRe| mirsRs
EE8T 1 TH 1 1 REG #h "kt HE
EER 1 TH 1 EERT T 23 DEHH Tt HE
EE8T 1 TH 1 3 REG #h "kt HE
FER ITH 1 AEEE |OE 27 — £ Tkt HE
5/ 1 TH 1 SUEHEET | EdhiR 14 —E i Tkt HE
FER 1TH 1 6EEET |E 30 9| —Euth Tkt HE
5B (1 TH 1 TEEHET |[OE 30 12| — %4t "kt HE
5B (1 TH 1 S|ETHHET |#E 30 13| — %4 "kt HE
FERT 1TH 1 IMEEET |E 28 —E M Tkt HE
EE8T 1 TH 1 o] FEo e RS 37 1| — 5 "t HE
FERT 1TH 1 MEHE |#9E 37 2| —E Tkt HE
E8T 1TH 1 12 REG #h "kt HE
5/ 1 TH 2 1 e 15 BER Tt HE
FEET 1 TH 2 i e 16 BERh Mt HE
FEET 1 TH 2 i e 24 BEh Mt HE
#FEm 1TH 2 2EERT (T 14 — £ Tt HE
FEm 1TH 2 IMEEET (T 17 — £ Tt HE
FEET 1 TH 2 AFEEE |OE 18 HDEHH Mt HE
FE0T 1TH 2 5 REG #h "MLt HEe
FE0T 1TH 2 6|EHHET |#E 21 1| —E#ih "kt HE
FE0T 1TH 2 TEEHET |E 21 2| — % "kt HE
FE0T 1TH 2 S|EFHAET |#E 21 3| — % "kt HE
FE0T 1TH 2 |FHAET |#E 21 A|—EHth "kt HE
FE0T 1TH 2 10X (T 21 5|—%Hih "kt HE
FE0T 1TH 2 MEERT (T 30 10| —%4#ath "kt HE
FEET 1 TH 2 2SR (E 20 — "t HE
FE0T 1TH 2 13EEHT | 22 1| —5#ith "kt HE
FE0T 1TH 2 14EFHT (T 22 3| —EHih "kt HE
FE0T 1TH 2 15EERT (T 22 2| — % "kt HE
FE0T 1TH 2 16[{ESEHT AT 23 DEHIM "t HE
FE0T 1TH 2 17TESEHT S 23 DEHIM "t HE
#FEm 1TH 3 1 e 18 DEHH Mt HE
XS0 (1 TH 3 2 REG #h "kt HE
FER 1TH 3 IMEEET T 9 EEHih Tt HE
FER 1TH 3 IMEEET T 10 BER Tt HE
EER 1 TH 3 A|FEER | iR 36 —E i Tkt HE
FER ITH 3 5 {RERh Tkt HE
FER 1TH 3 6 RERh Tkt HE
EE8T 1TH 3 TESHT | iR 16 1|EEH "kt HE
FER ITH 3 TMEEET |8 19 BERh Tt HE
FER ITH 4 1 e 13 — £ Tkt HE
5/ 1 TH 4 EERT T 1 —Eifaith Tt HE
5/ 1 TH 4 IMEEET |E 2 —E i Tt HE
FER 1TH 4 AEEE |OE 12 — £ Tkt HE
5/ 1 TH 4 S5|EERT |8 7 —E i Tt HE
FER ITH 4 6EEET |E 8 2| —E i Tkt HE
FER 1TH 4 7 RERh Tkt HE
FER 1TH 4 8 RERh Tkt HE
FER 1TH 4 9 {RERh Tkt HE
EE/ 1 TH 5 1 e 3 —E i Tt HE
FERT 1 TH 5 QMEERT (T 4 S EHih Mt HE
FEET 1 TH 5 IMEEET (T 4 S EHh Mt HE
FE0T 1TH 5 A|FHE |E 5 1| —E#ih "kt HE
FE0 1TH 5 S|EHAET |#E 5 3| —EHih "kt HE
FE/T 1TH 5 6|EHET |#E 5 A|—Eh "kt HE
FE0T 1TH 5 TEEHET |OE 5 5| —%#ih "kt HE
FE/T 1TH 5 SIEHAET |#E 5 2| — % "kt HE
FE0T 1TH 5 |FHET |#E 8 1| —5#ih "kt HE
FE0T 1TH 5 10X EHT (T 6 1| —5#ih "kt HE
FE0T 1TH 5 MEEET (T 6 2| — % "kt HE
FEET 1 TH 6 1ME5ERT [ EdiR 35 2| — i Tkt HE
FE0T 1TH 6 2 REE #h "kt HE
FEm 1TH 6 IMEEET | EdpiR 33 —E i Tkt HE
FE0T 1TH 6 4 REG #h "kt HE
FE0T 1TH 6 5 REG #h "kt HE
FE0T 1TH 6 6 REG #h "kt HE
#Em 1TH 6 TUESHET | iR 35 11—t Tkt HE
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
50 (1 TH 8 1 REG #h "kt HE
FER ITH 8 2 {RERh Tkt HE
FER ITH 8 3 RERh Tkt HE
FER ITH 8 4 REEh Tkt HE
5/ 1 TH 9 1{EHAT [ EdiR 26 S E i Tkt HE
FER 1TH 9 2 RERh Tkt HE
EE/ 1 TH 9 EHAT | iR 28 1| =%t mE HE
5/ 1 TH 9 A|{FFHET | EdiR 28 2| — i Tkt HE
X8 (1 TH 9 S5|F5ERT | EdiR 28 3| —EHuih "kt HE
5/ 1 TH 9 6|{FTHHT | iR 29 1| =%t Tkt HE
X8 (1 TH 9 TSR | LR 29 2| — i "kt HE
BT (1 TH 9 sliFHEMAT | EdiR 29 3| —EHuih "kt HE
FERT 1TH 9 9 REEh Tkt HE
FEET 1 TH 9 10[{FHT | EdiR 26 S E i Tkt HE
FE0 1TH 10 14ESHT | BB 51 1| —5#ith "kt HE
FE0 1TH 10 21FE0 | LR 51 2| — % "kt HE
FEET 1 TH 10 {EHHAT | iR 38 S E i Tt HE
FEET 1 TH 10 A|{FFHERT | EdiR 37 S EHih Tkt HE
FE/T 1TH 10 S5|FHEM | LR 30 1| —%#ih "kt HE
FE0T 1TH 10 6liFHEM | LR 30 2| — % "kt HE
FE0T 1TH 10 TESERT | LR 30 3| —EHaih "kt HE
FEET 1 TH 10 Sl{EHHAT | ErhiR 30 4| —Ei#th Tkt HE
FEET 1 TH 10 O|F AT | ErhiR 38 S EHih Tkt HE
FE0T 1TH 10 10[{FHHET | EdiR 37 DEHIM "t HE
FEET 1 TH 10 {FHEE | EdiR 39 EEfih Tkt HE
FEET 1 TH 10 {FHEET | EdiR 41 EE i Tkt HE
FE0T 1TH 10 12X 50T | EdiR 51 3| —EHih "kt HE
FEE 1TH 10 13[{FEE | EhiR 51 4| — it Tkt HE
FE0T 1TH 11 1MEEET (8 30 8| — % Hih "kt HE
#Em 1TH 11 2UFHHT | iR 40 EEfih Tkt HE
#HEm 1TH 11 2UFHHT | iR 43 EEfih Tkt HE
FE0T 1TH 11 2{FHAET |HE 31 EEh "t HE
XS0 (1 TH 11 2{FHAET |HE 32 EEh "t HE
XS0 (1 TH 11 3 REG #h "kt HE
x5/ 1 TH 11 AFEEE |OE 33 — £ Tt HE
&8 1 TH 11 S5|{FHHAT | iR 45 — S Tt HE
EER 1 TH 11 6{FTHHT | iR 47 —E i Tkt HE
&8 1 TH 11 THESHET | iR 46 1| —5#Hih "kt HE
XS0 (1 TH 11 sliEHEMT | EdiR 46 2| — i "kt HE
EE8T 1 TH 11 |FHET |#E 36 1| — 5 "kt HE
50 (1 TH 11 10X EHT T 36 2| — i "kt HE
5/ 1 TH 11 MEHE |#F 34 — £ Tt HE
58 1 TH 11 P2EER (T 35 1| —E#ih "kt HE
50T (1 TH 11 13EERT T 35 2| — i "kt HE
FER 1TH 12 1 e 30 1| =i Tkt HE
FER ITH 12 2EERT T 30 2| —E i Tkt HE
FER 1TH 12 IMEEET |E 30 4| —E#th Tkt HE
FER 1TH 12 AEEE |OE 30 5|—#ah Tkt HE
E8T 1 TH 12 S|FTHET |#E 30 11| —%4HHh "kt HE
FER 1TH 12 6l4EEHT | EdhiR 35 3| —E i Tkt HE
FE0T 1TH 12 TEEHET |[HE 38 1| —E#ith "kt HE
FE0T 1TH 12 S|ETHAET |#E 38 2| — % "kt HE
FE0T 1TH 12 |FHAET |#E 38 3| — % "kt HE
FE0 1TH 12 10T (T 39 — "t HE
FE/T 1TH 12 11 REG Hh "kt HE
FE0T 1TH 12 P2EER (T 30 6| — % Hih "kt HE
FE/T 1TH 12 1I3EERT (T 30 7| — % "kt HE
FE0T 1TH 12 14EFHT T 30 3| — % "kt HE
FEET 1 TH 13 1ME5ERT [ EdiR 64 1| Tkt HE
FEE 1TH 13 2| R ET EES 13 DEHIM "t HE
FEET 1 TH 13 EHAT | iR 62 EEfih Tkt HE
FE0T 1TH 13 |EHEM | LR 63 1|EEHH "kt HE
FEm 1TH 13 A|{FFHERT | EdiR 63 4| —Ei#th Tkt HE
FE0T 1TH 13 S5|FHEM | EdiR 63 2| — % "kt HE
FE0T 1TH 13 6liFHEM | LR 63 3| —EHih "kt HE
FE0T 1TH 13 7 REG #h "kt HE
FE0T 1TH 13 sliEHEMr | LR 61 1| —5#ith "kt HE
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L F_J;T; %ﬁﬂni %m;zgg BET%Z | BT | B#% | BEE | BiER | HemKs | HEaxs
%E?BT 1TH 13 10 ﬁﬁﬁ Ei e
FEET 1TH 13 1S = -
FEET 1TH 13 12 gﬁg iii& gzst 1 /_\gmiﬂ e 2
58 (1 TH 14 1{iESHT | EdhiR 48 Pt - o
XS0 (1 TH 14 21FEm | LR 49 et - o=
5B (1 TH 14 |EHRT | LR 49 1 :émiﬂ - o
&8 1 TH 14 A|{FFHET | EdiR 50 f /\émﬂt - o2
X8 (1 TH 14 S5|F5ERT | EdiR 53 jj\%mﬂt s o2
EE8T 1 TH 14 6|{FTHHT | iR 52 f ?\émﬂt - o
X8 (1 TH 14 TSR | LR 25 jj\%mﬂt s o=
BT (1 TH 14 sliFHEMAT | EdiR 27 Pt s o=
=B (1 TH 14 liFHERT | EdiR 27 ot - o=
FE/ 1TH 14 10[{FHHT | EdiR 27 ; :%mﬂt e =
FE0 1TH 14 R | EdiR ; Y. T s R
Bal (T8 5 25 1|9 Eiith Tkt HE
14 12iE5HRr | BB 52 4
gen I8 = 1| i mE HE
14 13iEERT | EdhiR 53 4
gen I8 = 2| E "Lt #HEe
14 144 SR | BB 50 4
gen I8 = 1| "MLt #HEe
S 14 15{EERT | BB 49 3| —EHuh
FE0T 1TH 14 16[{XFHHET | EdiR 48 e 02
FE0T 1TH 15 14ESHT | BB 27 = e 02
FE0T 1TH 15 21FE0 | LR 27 Ee e 02
FE0T 1TH 15 |EHEM | LR 29 bt e 02
FE0T 1TH 15 AliEERT | BB 8 2 ;%mﬂt e o
fEEE [1TH 15 alpEAT | tehim o olamas | mt [ e
50 [1TH R T T R TR T
FE0T 1TH 15 6liEHEM | EdiR 12 “aan e o
FE0T 1TH 15 TSR | LR 11 ;émﬂt e e
50 1 TH 15 7lgEar | taiE | 13 R TRETER
FE0T 1TH 15 8 1 E‘ﬁﬁiﬂ ”Ei e
#HEm 1TH 15 IFESE = e
FE0T 1TH 15 10 gﬁg *i;:jﬁ :? 1 :émﬂt e o
XS0 (1 TH 15 {FHEET | EdiR 23 —émiﬂ e o
XS0 (1 TH 16 14ESRT | EdhiR 26 1 /\émiﬂ e o
&8 1 TH 16 2 i e 02
Ser oo = 2 REG #h "MLt HE
EE8T 1TH 16 4 Eﬁﬁ Ei e
&8 1 TH 16 5|35 = e
FER ITH 16 6 E?EETT iijfg ; ot e 2
EE8T 1 TH 16 THESHT | iR 7 T e 2
EE8T 1 TH 16 Sl{EHHT | ErhiR 7 T e e
XS0 [2TH 1 1ESHE (E 62 = e 2
e : ! = 1| =i 7t HE
Sen oo 1 2 REEHh "MLt HE
Een oo 1 : ﬁ':%iﬂz "MLt #HEe
hen oo 1 : ﬁzsjiﬂz "Lt HE
W N Gae T hi e
B [2TH 1 = = - =
Sem prE T olsem me | el d#me | hi [ e
TER/ |2TH 1 IMEEET |HE 60 e e =
FE0T [2TH 1 10T (T 61 R e o
FE/T |2TH 1 MESEET (T 61 S E s o2
FEET (2T H 1 12|50 |9E 61 =T s R
FE/T [2TH 2 1|4 By :Egi% 2 = s 02
FE/T |2TH 2 21FE %JJ“ 6 ot s 02
FE/T [2TH 2 3 3 : ‘ 1_%%%1& ,’Ei e
FE/T |2TH 2 i 2 = 0
FE0T |2TH 2 g ig iﬁg:g : =T s e
FE0T |2TH 2 6lFS %JJ“ 61 “aan e 02
FE0T 2TH 2 NES *JJE‘ 61 R s 02
FE/T |2TH 2 ] e *JJE‘ 61 N e 02
FE/T |2TH 2 IFSH *JJE‘ 62 St e o2
FE0T [2TH 2 10| ET :Egi% ’ =T s e
EEE 2T o 1iloEr =R ; ant T oo
FE/T |2TH 3 15 %JJ“ 52 = e o
FE0T |2TH 3 Pl ke *)JE‘ 52 “aan e 2
FE/T [2TH 3 3|ES *)Ji:‘ 58 ot e 2
&= 2| — % Tkt HE
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_HRTA | BT | =
Jar ST # 1@3 ¥ﬁ$§§4 1 i%”mf *;'JE;% A% | IBHE | HBIER | mireRs | mErERs
50T [2TH 3 5|{F HHET *)Ji 28 T e o
50T [2TH 3 6|1+ HHET *)Ji 57 T e o
X0 [2TH 3 7|{FEHET *)Ji 57 i e 2
50T [2TH 3 8|{FHHT *JJIE‘ ez : /_\gmiﬂ e 2
XS0 [2TH 3 9|{FHHT %JJ’EII 60 ey e =
BT [2TH 3 10|{F T %JJ’EII 60 = e =
BT [2TH 3 11| EHHET %JJ’EII 61 1 /_\%miﬂ r =
B [2TH 3 12|{F HHET %JJ’EII 5 Caan e =
XS5BT [2TH 4 1{EHHET %JJ’EII 57 ey e =
BT [2TH 4 2|{FHEHT 14JJ’E=I 57 S e =
BT (2T H 4 3|{FHHET 14JJ’E=I 27 = e =
B [2TH 4 A[iEEHT 14JJ’E=I 46 ;%mﬂt e =
fEEE 2T H J dlmam |gE m TR TR
FE/T 2TH 4 A[iFEHT *JJE‘ ; zémﬂb ot =
FE/T 2TH 4 5 3 > E‘:fﬁﬂﬂ ,’Ei e
FEET (2T H 4 = =1 = e
fgen I8 : . = 54 nfmﬂt Tt HE
FE/T 2TH 4 8 EE’% ,’Ei e
FE0T [2TH 4 = = - 02
fgan I8 : 12 EEE |98 55 —%mﬂt mt HE
hen e ; g e - REG #h "MLt HE
FE/T [2TH 4 121FF *JJE‘ 57 T e o
FE0T |2TH 4 131 & *JJE‘ 57 T e 2
FE0T [2TH 5 14iEE *JJE‘ 27 = e 2
FE/T [2TH 5 ] (eSS *JJE‘ 25 Caan e o
FE/T [2TH 5 K] [ES] *)JE‘ 25 T e e
FE/T |2TH 5 aixE *)JE‘ 25 T e 2
FE0T [2TH 5 5|F& *JJE‘ 25 S e o
FE0T |2TH 5 [ IS *JJE‘ 25 T e 2
FE/T |2TH 5 ES *JJE‘ 25 T e o
XS0 [2TH 5 ) LES] *)JE‘ 29 Ity e o
XS0 [2TH 5 ] [ES] *)JE‘ 59 = e 2
XS0 [2TH 5 10 & *)JE‘ 51 e e 2
XS0 [2TH 5 1MESE *)Ji 22 “aan e 2
X0 [2TH 5 121 F *)Ji 25 = e o
X0 [2TH 5 131 & *)Ji 25 T e e
XS0 [2TH 6 14iEE *)Ji 55 : /—\%mﬂb e 2
XS0 [2TH 6 ] (e *)Ji 4O v e 2
X0 [2TH 6 3|ESH *)Ji 56 “aan e 2
XS0 [2TH 6 4| AT :Eéi% : ’_‘gmiﬂ e e
{50 [2TH 6 3 Lzl EE% : : jj‘%miﬂ s e
EET 2T H 6 olz=m [w= : Caaw [ ni o
BT [2TH 6 7 - 5 : _fmiﬂ e =
TSR |2TH 6 sliES nE 41 Emfm r =
S 2T A o slasE |wE 2 T TR TR
S 2T A 6| olzmE |wE S TR TR
BEE 2T A o olamE |wE S TR T
S 2T A o iolzmE |wE i TR TR T
FE0T [2TH 6 1S *JJE‘ 45 Ity e o
FE/T |2TH 6 121FF *JJE‘ 45 T s o2
FE0T 2TH 6 131 & *JJE‘ 45 = s 02
FE/T [2TH 6 14 & *JJE‘ 45 i s o2
FE/T |2TH 7 14iEE *JJE‘ 57 /—%miﬂz s 02
FE/T [2TH 7 ] (e *JJE‘ 0 ﬁémﬂﬂ nt -
FE/T |2TH 7 3 3 = gﬁﬁﬂﬂ ,’Ei e
FE0T |2TH 7 i z = 02
FE0T |2TH 7 g :';E].:.bT %:JEJEiﬁ 4153 ey e 0
FE0T 2TH 7 [ IS *JJE‘ : =T nE -
FE/T |2TH 7 7 - 5 —%mﬂt e 02
=8 |2TH 1 slgEm |wE 6 A TR
FE0T [2TH 7 oliFs *JJE‘ 66 e e 2
fgon I8 ! 2 = 5 —%mﬂt mE HE
=8 |2TH s ilgsm |wE 6 A TR
FE0T |2TH 8 ] ke *)JE‘ 62 R e e
fgon I8 s 2 = 2 6| — it Tt HE
REG #h "MLt #HE
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B R

_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
EERT |2TH 8 AEEE |OE 74 — £ Tkt HE
EER/ |2TH 8 S5S|EEET |HE 63 DEHH Tt HE
EERT |2TH 8 6EEET |E 75 1| =i Tkt HE
X0 [2TH 8 TEEET |HE 75 2| — % "kt HE
50T [2TH 8 ] Ll EES 12 5| —%Hiih "kt HE
XS0 [2TH 8 |FHET |#E 75 3| —EHuih "kt HE
EER/ |2TH 8 10X =0T |40 63 DEHHh Tt HE
&8 |2TH 8 11| BT EES 3 3| EHHh "t HE
B [2TH 8 12 REG #h "kt HE
XS5BT [2TH 10 1|4 BT EES 3 1| =i Tt HE
EER/ |2TH 10 2| T EES 3 2| — i Tt HE
50/ |2TH 10 3| T EES 3 4| —EE it Tt HE
B [2TH 10 4| AT EES 12 1| — 5 "kt HE
FE/T |2TH 10 3 kg EES 12 2| — % "kt HE
FE/T 2TH 11 1|4 BT EES 12 3| —EHih "kt HE
FE/T 2TH 11 2| R ET EES 12 6| — % Hih "kt HE
FE/T [2TH 11 3|sRET EES 12 A|—Hh "kt HE
FE/T [2TH 11 4| AT EES 12 8| —EHih "kt HE
FE/T |2TH 11 3 Lzl EES 12 9| —EHih "kt HE
FE/T 2TH 11 [ e 0 78 1| —E#ih "kt HE
FE0T [2TH 11 7| R ET EES 16 1| —%#ith "kt HE
FEE |2TH 11 ] Ll EES 13 DEHIM "t HE
SR (2T H 11 ofFSE nE 76 —E i Tkt HE
FE/T [2TH 11 10 & e 77 EEih "t HE
FER |2TH 11 10| sR BT EES 15 1| &% Mt HE
FE0T [2TH 11 11 REG #h "kt HE
FE/T [2TH 11 12 REG #h "kt HE
FE/T [2TH 11 13 REG #h "kt HE
FE/T |2TH 11 14 REG Hh "kt HE
FE0T [2TH 11 15 REG #h "kt HE
FE0T |2TH 11 16| ET EES 12 7| — % "kt HE
FE/T |2TH 12 1MEEET (8 73 — S "t HE
XS0 [2TH 12 2{FHAET |HE 70 — & "t HE
XS0 [2TH 12 |EHAET |HE 71 1|2 EHH "kt HE
EER/ |2TH 12 AFEEE |OE 40 — £ Tt HE
XS0 [2TH 12 5 REG #h "kt HE
X0 [2TH 12 6 REG #h "kt HE
X0 [2TH 12 7 REG #h "kt HE
FERT 2TH 12 SIEEET |HE 71 1| i Tkt HE
EERT |2TH 12 IMEEET |E 72 1| =i Tkt HE
X0 [2TH 12 10X EHT T 72 A|—%h "kt HE
XS0 [2TH 12 11 REE #h "kt HE
{50 [2TH 12 12 REEHh "kt HE
{EEET |AIER 136 EEET |AIER 23 2| —E i Tkt HE
{EEET |RIER 137 RERh Tkt HE
£ 5B |AIER 138 REEh Tkt HE
{EEET |RIER 139 EEET |AIER 23 1| =%t Tkt HE
{EEET |AIER 140 EEET |AIER 23 4| —Ei#th Tkt HE
{EEET |RIER 141 EEET |AIER 23 5|—Zuih mE HE
{EEET |RIER 142 =1 R 22 EEfih Tkt HE
EEET | BITER 142 EEET |RIER 23 &t Tkt HE
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